= % 2 Y — F B =
E2EES ) ) O #EK O%WFEE
—YIR = e yEZARSER(E - B| RAFR—V§
15 10 01 F X 4 AR—VIREEEEEEXE =95 8 R =E R—YER RAEFHE OAR
= N X N =] 71 =3
— % N N N o 39fﬂ§ FE | 95 E 0 E BERpEBEERE r—
& - FA) [ FA | F@A) | F/A) | FA) | (FA) FE | ROER
o g . H(RRIZET325BDRAR—VYHEDAEIZDODNTEHH 10—
1 Zﬂ( J*EJEEB?&'%B%{E$%% éﬂﬁ%@%{% jl:i_z(: %b\gf%fE&%ﬁ(T:&)s g%ﬁ%%ﬁﬁ{&#é 329 550 192 192 O 15 10 01
i (AREROAT Y D EY Y LA —OMREXF—5HRK
2 XEZEBFRRESBREWHEEE XEZEBRRESEEWEXE U (DIREZR 586, [FISGT—49S5S 7)o voJ 7,000( 7,000 7,0001 7,000 0 15-10-01
& | HEXE) BAEEEICHLEBZETS
3 BEEAERIEEEESEE AE YV THRBIGEESEE E 2HEARF—EBRNEFHH 127 20 20 20 0 15-10-01
fﬁ
3 BEEAERSEEEESXE BAECy Y TG IEEEEH % BEDY Y THGEEEER 41,029 37,500 36,200 36,200 0 15-10-01
i
=
3 EEAERIEEEEEXE XZEBREETEERAEREE f% — 23, 000 15-10-01
A7
3 EEAERIEEEESXEE AED Yy Y THBGHRIEEXE ?’i HEE - ZFHIEICHIET S8, WMEIEDEEA*RT 12,985 3,532 7,958| 3,780 0 15-10-01
3 BEAERAEEEESEE AESY Y TR RIEELE E BEE - EZERIEICHIGT -0, IEIE4EN 382,575 153, 457| 153, 242 0 15-10-01
#
3 BEEAERIEEEESEE AE YU THBIGRIEEEE f% — 8,448 215 0 15-10-01
i
3 BEABHRLXEEEESEE BEEARERLEEE E EH - FABKEBRaAT7R—FS ) —XH 279,666 4,6952] 29,254 4,952 0 15-10-01
3 EEAERIEEEESXE EEAERSERE % FHBKIGR a7 R— FHlESB SIS IEDRIRTSE 6, 092 4,656 1,546 0 15-10-01
i‘é:
3 EEAERIEEEESREE BEEAERZIEEEEN % R - tEHFHKIGIEEEER 13, 286 550 550 550 0 15-10-01
B
4 BURKEERSREXE BT HREERSEREEEE E REFEOERTES 912 1,510,413|1, 144, 291 0 15-10-01
4 BT HEFERNEXE BYHREERSEREEEE ?E HEEOESZTEEERTSE 136, 288] 15,040 24,101 0 15-10-01
& 5 751,537| 214, 304|1, 764, 740| 1, 376, 089 0 0

1/1



